Problem One

At Moira’s Munchies takeaway bar,

two hamburgers and one packet of fries

cost $6 altogether.

A hamburger costs 75 cents more than the fries.

How much is one hamburger?

Problem Two

Room 9 are going on a class trip.
There are 26 children.
A small car can take three children.

A big car can take five children.
Each car must be full.

What is the least number of cars the class
will need in order to go on their trip?

Problem Three

a. What is the next block in the pattern below?

b. What would the fifteenth block look like?

Problem Four

Filo’s orange tree needs exactly 7 litres
of water each day.

How can he use these measuring jugs
to make sure that he gives the tree the
right amount of water?



